. VCE & PDF https://www.pass4itsure.com/asm.htm|
ﬁ 2024 Latest passditsure ASM PDF and VCE dumps Download

PassditSure.com

ASMOIEAS

EXIN Agile Scrum Master

Pass EXIN ASM Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/asm.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EXIN
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest ASM Dumps | ASM Practice Test | ASM Study Guide 1/3


https://www.pass4itsure.com/asm.html
https://www.pass4itsure.com/asm.html
https://www.pass4itsure.com/asm.html

VCE & PDF https://www.pass4itsure.com/asm.html
a 2024 Latest passditsure ASM PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

As items are developed and removed from the top of the Product Backlog, the Product Backlog iceberg develops a flat
spot at the top and loses its shape.

What would be a necessary measure to counter this effect?
A. Creating a chart of the number of Product Backlog Items
B. Grooming the Product Backlog
C. Prioritizing the Product Backlog
D. Using an improvement Backlog

Correct Answer: B

QUESTION 2

A Development Team consists of various different roles: analysts, programmers, UX experts, DBA and
systems architects. They are estimating Backlog Items in Ideal Days.

What is the best approach to provide estimates for the Backlog Items?

A. Each role should provide a separate estimate; the Scrum Master integrates them.

B. Ideal days\\' estimation is not feasible in this case; Story Points should be used.

C. The Development Team provides a single estimate for each Backlog Item.

D. The Product Owner will integrate the input on the estimates from each role.

Correct Answer: C

QUESTION 3

How can pair programming help with adopting Agile?
A. It helps recognizing who wrote which code

B. It is beneficial to knowledge transfer

C. It makes development faster and cheaper

Correct Answer: A
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QUESTION 4

Kevin is a Product Owner for a retail organization. The Product Backlog for his immense marketing tool project has 200
Product Backlog Items.

Into what should he group the smaller Stories together?
A. Epics

B. Themes

C. User Stories

D. Views

Correct Answer: B

Reference: http://www.agilemarketing.net/epic-vs-theme-2/

QUESTION 5

A team\\'s physical environment can have a big influence on how Agile a team can become.

An important benefit of an open space workplace is the ease with which the layout of the area can be
changed.

Why does this comply with the Agile principles?

A. It follows the inspect and adapt cycle, as the people on the team are learning how to work best with one another
during the process.

B. Pair programming is only possible in an open environment.
C. Self-organization is only possible in an open space environment.

D. With people involved, there will always be people issues. Open work spaces allow the Scrum Master to detect people
issues and resolve them.

Correct Answer: C
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